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29. (d) WH n TH HES & G
=nn+1)
. 25 9 ARl B ArTHe
=25@5+ 1)=25 x26 =650 [ n=25]

30. (d) 1 3R 60 F 7 T TH A=A 6

aﬁw:2+4+..‘+60=g(2+7]

Vil

L

258

+1J:30x31:930

[.n=60]
E 1ﬁrvmﬁwu@ﬁwwmw

AR = ”[’ H

31. (a) 13IR 32 & 419 pat 16 fawm
W%ﬁ?l
~ 1 3R 32 % 4= |l fQuw el @
AR = (16)° = 256 [ n=16]
[ verd n fawd wefds = &1 I = n?)
32.(d) 754764+ 77+ ...+ 99
=(1+2+ 3+..+ 99
-1+ 2 4+ 34 .
99(99+ 1) 74x(74+ 1)
2 2
- T n Wi el @ A :n(n; 1)}
~99x100 74x75
2 2
= 4950 — 2775
=2175

33. (d)1+2+3+..+100=

+ 74)

100%(100+ 1)

n{n + 1)}
2

_-.-t.ram n MRS HEamell & A =

=50 x 101
= 5050
34, (b) 3T FRTH
=24+3+5+7+11+13+17 =58
35.(c)4T@6 @ AH =12

i 6007—2100541
36. (c) fawg (o) A,
5+ (52 =5+ 25=30
X =2 x3%hH
- SURTEE QW 3 6 gy 9w 5 R

nin+1)

37.@1+2+ 3+ 4+ ..+ 100=

100 x (100 + 1)
2

=50 x 101

= 5050



